Name ______________________________________ Core _____ Date ________________ 

Due Date ______________
Problems of the Week: Quarter 4 Week 1  




Show work OR write an explanation of how you arrived at your answer on a separate piece of paper. Work or explanation is required 
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for each problem to receive credit!! Write the letter of your final answers in the answer box. You may use a calculator. 
	1. The graph below shows the path of a frog’s hop. Which appears to be true from the graph? 

A It takes the frog 30 sec to complete 1 hop.
B The frog’s hop height keeps increasing as his horizontal distance increases.
C The maximum height the frog reaches above the ground is 30 inches.
D The frog is higher above the ground at a horizontal distance of 18 inches than at a horizontal distance of 6 inches.
2. Ian was delivering a truckload of 26,000 pounds of grape jelly to Norfolk. He drove from Chattanooga to Cherokee, a distance of 149 miles, in 3 hours. What was his approximate speed in miles per hour?

A 60 miles per hour


B 58 miles per hour

C 50 miles per hour


D 45 miles per hour

Use the table below for questions 3 and 4. The table shows the time it takes Carlos to ride his bike various distances.
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3. Which equation gives the distance d in miles, in terms of the time t in hours?

A t = 5d 
B t =10d
C d = 5t 
D d = 10t

4. At this rate, how long should it take Carlos to ride his bike from Greensboro, NC to Winston-Salem, NC, a distance of 26 miles?

A 2.6 hours 

B 
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C 
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 hours

D 26 hours
	5. How many miles will a train travel that goes 120 miles per hour for 8 hours?

A 15 miles 
   B 128 miles
   C 960 miles 
   D 1,080 miles

6. If a tiger runs 3 miles in 10 minutes, how many miles per hour is it running?

A 
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 mile per hour 
B 
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miles per hour

C 18 miles per hour 
D 30 miles per hour

7. How many feet per second are equivalent to 50 miles per hour?
A 4,400
B 220
        C 
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     D 0.14

8. The distance by road across a map of North Carolina is 12 inches. The map’s scale is 
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 inch equals 30 miles. If you drive that route at 50 miles per hour, how long will it take you to complete the trip?

A 7 hours 12 minutes 

B 9 hours 36 minutes

C 10 hours 15 minutes 

D 14 hours 20 minutes

9. Sydney is competing in a 200-mile auto race at Lowe’s Motor Speedway in Charlotte. If she averages 120 miles per hour, which equation could you solve to find how long it will take her to complete the race in time t?

A 
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B 120t = 200

     

C 120 + t = 200 
           D 
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	10. The Henrietta Riverboat could travel 115 miles from Fayetteville to Wilmington in less than 10 hours. Which inequality could be used to find the average speed s of the boat?

A 
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C 115s >10 
D 115 s < 10

11. Which expression represents the speed of a bicyclist on Cades Cove Loop Road who travels the 11 miles in x hours?

A 11x 

B 
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C 11 – x 
D 
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12. Jeon runs in marathons. His times in the last 4 marathons were 3 hours 30 minutes, 3 hours 20 minutes, 3 hours 45 minutes, and 3 hours 10 minutes. In what time must he run his next marathon for his average time for all 5 marathons to be 3 hours 25 minutes?

A 3 hours 20 minutes

B 3 hours 30 minutes

C 3 hours 40 minutes

D 4 hours

13. Illya is driving home from Chicago, Illinois, to Charlotte, North Carolina, a distance of about 785 miles. If she averages 55 miles per hour, approximately how long will it take Illya to drive home?

A 10 hours
B 11 hours
C 13 hours
D 14 hours


	14. The equation D = 7T models how many miles Frank can run in an hour. How far can Frank run in 3.25 hours? 

A 7 miles 
B 10.25 miles
C 22.05 miles 
D 22.75 miles

15. When visiting Carolina Beach State Park, Caitlin likes to take her time, so she takes the scenic route. If she travels 45 miles in 1 hour and 15 minutes, about what rate is she traveling? (HINT: Change 1 hour and 15 minutes into only hours before you solve the problem.)

A 0.75 mile per second 
B 39 miles per hour

C 36 miles per hour 

D 56 miles per hour
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